BUS 310, Exam #1F, Part ll}, Spring 2015 Name

Section

Instructions: This exam is|in three parts: Part | is to be completed part:
posted on Blackboard for Part | and you will answer questions about the

to be completed entirely in class using your computer. Part 1l is to be
your computer.

1. You may not use cell phones, and you may only access internet

directed to use: You may access your data file for Part | of the

access the data files posted to Blackboard for the Exam part |,
2. ltisaviolation of qhe honor code to communicate with other sk

dauring the exam, Hay any means. Students whose exams show
reported.
3. Show all work to sugport your ieasoning. Primarily, thiscan b

evidence of your logical process can result in loss of credit. A sk

toward process, reasoning and interpretation.
4. When rounding, d? not over-round. In general, do not report
Wieans should be founded to cne digit more than the original

digits more. Do not report fractions rounded to single digit ex

round decimals or|percents to a single digit: 0.57846 ... # 609

two digits, up to four, unless otherwise specified in the proble

Ui

addition to stating the solution, not in place of. Explanations
without explanations, will not be awarded full credi:.

Part I: At Hlome
This part was compiated at home. You can upload the Excel file for Pa
Blackboard for use during the Exam period. However, this sulbbmission

it must be submilted to the “to be graded folder” to receive credit.

Part Il In Class {with computer)

Before completing Part lll, | complete Part 1 in class. Return the paper tE

your computer. Then pickup Fart il

Part lll: In Class (without computer)

1. Youmay use a handheld calcuiator for this portion of the exan
itisnoton a deviﬁ‘e that connects to the Internet. That means

on your phone or T’mart watch. You may also not share calcul
the exam at the same time.
2. Thisis Exam F.
Answer the guestions on the paper exam. Sign the honor cod
4. Turnin your paper copy of the exam to your instructor. Youri

of the exaim to the version of Part I that you submitted previo

W

If a problem asks for an explanation, state the solution clearly,

y at home using the materials
t work in class below; Part Il is
lone antirely in class without

rasources you are specifically
B:am in Blackboard. You may
but not for Part ili.

[Lidents in or out of the class
widence of coordination will be

fdone in Excel Deletion of
nificant amount of credit goes

dollar amournts veyond the penny.
data; standard deviations to two

) 133 1
gressions: —— # -, and do not

) or 0.6, Report 2 minimum of

hen interpret or exalain in
thout solutions, just as solutions

i to the Part ! folcer in
will not be graded in this location,

your instructar and put away

Any calcuiator io fine, as long as
you may not use the calculator
ors with another student taking

taterment cn the next page.
structor will attech this portion
< ly.




Honor Code Statement:

L

(print your name), agree to abide by the George

Mason Honor Code and A
respect, trust, and fairness
desire for greater academ
pledge not to cheat, plagi
read and | agree to foliow

to participate in the efforts of other students to circumvent these guid
violations of the code, and will report sucn efforts in a timely manner.

cademic Integrity Pledge: To promote a strofger sense of mutual responsibility,
s among all members of the George Mason University Community and with the
ic and personai achievement, 1, a student meamber of the university community,
arize, steal, or lie in matters related to acodelic work. Furthermore, | have
the guidelines laid out in the instructions fof this exam abiove. | also agree not
2lines, or to assist in their

Student Signature and GH#

Today’s Date




Part Il

Below you will find screenshots of the set-up for a linear programmin
informaticn to answer the questions that follow.

problern on planting. Use this

a C o E F G H | ! L3 L M
Oax Lo Total inequality Avsilable/Goal | ! ;
2 Acres 23,323333 16.6665] 100 <= 100 A farmer has 100 acres on which ta jplant oalt ar cora. i
|Each acre of a requires $18 capital and 2 hours of labor,
4 Capitai g 3¢ 2100 <= 2100 Eachacre of cof® requires 538 capitel and 6 hours of labor, !
5 iabor 2 4 2133.233 <= 2400 Labor costs ar: 3 per hour. The larmer has 52100 available
Ifer capital and $2400 for labor. If the revenye is $55 from
T Revenie ax 199 5656657 each acre of 0: and $125 from 2ach scre of corn, what _f
Y | planting combifation will produce the greatest total profit? b
N T what is the mafimum profit {révenue <leftover cash reserve |
¢ Pofit 6933.333 A iy \ 37
0 ‘vtabor cash re i ve)? i
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1. Whatis the final s
(4 points)

naximum profit for planting 83.3 acres of oa
¥(923.>3

2. What is the shadg

problem? (6 points

)

3. What does it mea

w price for the Labor constraint? What doe

soea Saue

Ogrieas

, and 16.7 acres of corn? .

iz mean in the context of the




Below you will find a screenshot of the relevant Fxcel data for a differdl
information to answer the questions that follow.

ce of means problem. Use this

B C D
Male Female Difference: Malg - Female
29,752 529,188 5564
4 4 $30,414 530,085 $319
»T* 42 825795 525,248 8547
L4 43 $27.544 527,673 §a71
4 4d $26,661 §26,212 449
A 45 §51,351 330,783 S568
a7 46 529,303 $2851¢ §784
48 A7 328,628 $28.644 -516
44 48 24,524 524,114 $410
X 49 S27.217 $2¢,282 $935
£ 50 $21,651 $21,153 5498
22 Mean $27,241 $26,544 $297
53 StDev.  $2.536.45 $254250 § 297.87
53 T-5tore  Confidence tevel Standard Error
¢ 2.00057% 95% s 42.13

4. Is the data dependent or independent? Explain what leads yoll to this conclusion. (6 points)

é{@ﬂﬂw / ’PW

3. Use the information provided to calculate the 85% confidence frterval. (6 poinis)

Nudae T A Scoe & gk ey

(313,54, 2%1.66)

6. Does the interval you calculated support the claim that men m@lke more than wornen? Why or
wiy noi? (6 paints)

?@, Senbe The ‘/W%
Ao ol ConJn 260




Use the deta in the table

7. Use the data proy
prefer L. (5 points
8. Use the data prov
prefer L. {5 points
9. What do you notig

Use the information below

below to answer the questions that foliow.

Preference  Count  Proportion
# 181 45.25%
N 29 7.25% Nz [81+29 £ 190 =Yoo
L 190 47.50%
- pl-g
Z-5cores  Confidence Levels Sk Lwnor = \/ PT) =
1450 5%
1.282 30%
1.645 50% O - 02 Lf q b %
1.960 95%
2.576 99%

ided to find the margin of error for the 80%

J

onfidence interval for those that

0.0220

ded to find the margin of error for the 95% gonfidence interval for those that

O.0489

e about the margin of error as the confidende level increases? (5 points)

/(M a‘_-

to answer the questions that follow.




10. Explain how the i
thorough as possi

e mis
Yhe Stars
ML prcreaars

11. Describe a scenari

simple random sa}

i ede
e
[ramakl.

12. What is a responss

ble. (El pOIan}

&wdﬁn/w

| Sample Size | Standard i Mez I
E | Error ; i
=20 0.6658 | 64005
! n=100 0.2924  64D3 |
ln=1 A 7

I
o E
formation above supports the claims of t} 1e entral L

/g!!

imit Theorem. Be as

S cw% de;ﬂ/z&
% %\L ' ko X
l/m
is which a stratified sample would be a ma e appropriate choice than a
nple. {6 points)
/i Sa/»f/&
Do W == ﬂwm

ey

A

(o]

error? How does it produce excess bias in 4 sample? (6 points)

13. Why does asking p

s undecs

WW

por questions lead to inaccurate responses? 5 points)
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14. What conditions|should be met to substitute a z-score in a c:o
of a t-score? (6 points) ;

WM@@ Aes b
V1= Yo .
St dard deoallon anm)w lercnon

15. Write the Excel formula to find t-score for an 99.9% confidende interval. (5 points)

= TJINV. TR T (.OOOS, At

16. What assumptions are made when using a two-sample pooledit-confidence interval? (4 points)

I ————

o 1(1-p ; g —1)8%+(11,-1)5%
Standard errors: O = —= gy = |BRAP) (ny—1)s{+ (1t~ 1)s%
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fome Vi
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Two samples {independent): (¥, — o) * tnranan I;-L_}.._‘.‘. B —B2) ~ 250 /rgl i) o P2(1-P,
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